19 xxreal 2 (TM-
RCASNTWhB2MPGsqioAr8hNuvhNFxo4V7M)

October 27, 2020

Let vl zzreal 0 : t=>0 be given. Let kl_zareal 2 : t=-t be given. Let
kl_tarski : 1=t be given. Let m1_xzreal 2 : t=1=-0 be given. Let r1_zzreal 0 :
t=-1=>0 be given. Let v2_membered : t=>0 be given. Assume the following.

VX0.(vlzareal 0 X0)=(VX1.(vlzareal 0 X1)=-(( (1)
ml_zxreal 2 X0 (kl_tarski X1))<(rlxzreal 0 X1 X0)))

Assume the following.
VXO0.(vl_zxreal 0 X0)=(v2_-membered (k1-tarski X0)) (2)

Assume the following.

VX0.(v2-membered X0)=(VX1.(ml zxreal 2 X1 X0)= (3)
(vl_zzreal 0 X1))

Assume the following.

VX0.(v2-membered X0)=(VX1.(vl_zzreal 0 X1)=((
X1 =klzareal 2 X0)&((ml axareal 2 X1 XO)A(VX2.(ml _zxreal 2 (4)
X2 X0)=(rlzareal 0 X1 X2)))))

Assume the following.

VX0.VX1.((vlzzreal 0 X0)A(vl_zzreal 0 X1))=( (5)
(rlzzreal 0 X0 X1)V(rl_zzreal 0 X1 X0))

Theorem 1 VXO0.(vl_zzreal 0 X0)=(kl_-zzreal-2 (kl_-tarski X0) = XO0).



